Motivation Task

We have looked at both Maslow’s hierarchy of needs and Taylor’s scientific management theory. You will need to complete one task on each theory:

Maslow:

Pick an occupation; it can be anything but you need to have some knowledge about the tasks undertaken. You are to explain how an employer would fulfil all the employees’ needs at each stage of the hierarchy. Make sure your answer is in paragraphs, e.g. physical, safety etc.

Taylor:

1. Choose two different occupations; one that you feel it might be suitable to use Taylor’s scientific management theory when designing a job description and task list. You will need to explain your answer. The second occupation must be one you feel it would be very unsuitable to use Taylor’s scientific management theory, you must explain your answer.

2. You have been asked by Headlands Electronics Ltd. (producers of flat screen TVs) to advise them on whether or not they should adopt a Scientific Management approach to their new factory in Bridlington. You will need to assess any advantages or disadvantages of using the method before making a recommendation. (10)

